Math 4

Lessons 2-1 & 2-2 Learning Check
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Use the following matrices for problems 1 — 4. Read each question and circle the best answer.
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In numbers 6 — 9, use the below matrices to decide if the glven matrix multiplication is possible. Ifit is
possible, give the dimension of the product matrix. Ifit is not possible, explain why.

YOU DO NOTHAVE TO MULTIPLY THE MATRICES!!! XA
QKR A X Ax3 a d
a b d a a b c
A= e C= D=|c a
c d b ¢ a ¢ d
c b

6. A-B 'ﬂo?xll ‘ 7. B-C {QxBi
8. CD ‘ > Not PQSQUHL

)»f(?: °;«]<2

n
e *IVO. Given the below matrix equation, solve for a and b. Diesn :t
2x> 3% (et
310 11 1
el a 1 =
g e
é+a*0 =)| O+2 +b &

|

5 2 3 2
11.  Given 4= [7 3} Does 4™ =[ = } ? Explain why or why not.
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